Triangle Measurement
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The above triangle is a right triangle.  Use measuring rod #2 to measure the lengths of the sides and hypotenuse (to the nearest whole numbers).

Vertical side = _____________  horizontal side = _____________  hypotenuse = ___________
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The triangle at the bottom of the previous page is also right triangle.  What are the lengths of the sides of the triangle using  Use measuring rod #1 to measure the lengths of the sides and hypotenuse (use the nearest whole number).

Vertical side = _____________  horizontal side = _____________  hypotenuse = ___________

Now use measuring rod #2 to measure the lengths of the sides and hypotenuse (use the nearest whole number).

Vertical side = _____________  horizontal side = _____________  hypotenuse = ___________

Now use measuring rod #3 to measure the lengths of the sides and hypotenuse (use the nearest whole number).

Vertical side = _____________  horizontal side = _____________  hypotenuse = ___________

The second triangle is an isosceles triangle (you should notice the measures of the vertical and horizontal sides are the same).

Compute the ratio (as a fraction) of the measure of the hypotenuse to the measure of the horizontal side for each rod

	Rod
	Ratio as a fraction
	Ratio as a decimal

	1
	
	

	2
	
	

	3
	
	


Given that the second triangle is isosceles, what is the  ratio 
[image: image3.wmf]?  

Show your work
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